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BC140201924 : Muhammad Mazhar Abbas

Quiz Start Time: 01:52 PM

Em

Question # 1 of 20 ( Start time: 01:52:14 PM)

Which of the following formula is used to caloulate the cost of goods
sold?

Select correct option:

Total Marks: 1

Cost of goads available for sale minus net purchases plus ending inventory

Beginning inventory plus net purchases plus freightin minus ending inventary

Beginning inventory minus net purchases minus ending inventary

Beginning inventory minus ending inventory

Click here to Save Answer & Move to Next Question

I
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 2 of 20 ( Start time: 01:53:31 PM )
Al of the following are Non-commercial (Nor-Profit Oriented) organizations,

EXCEPT:

Select correct option:

NGO's (Non-govemmert Organizations)

Trusts

Limited Companies

Societies

Click here to Save Answer & Move to Next Question
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Time Loft g

BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 3 of 20 ( Start time: 01:53:45 PM )
The journal entry to record purchase of furmiture on credit would

include &

Select correct option:

Creditto fumiture Alc

Creditta Cash Al

Creditto Payables Alc

Creditto Peceivables Alc

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Quiz Start Time: 01:52 PM

Question # 4 of 20 ( Start time: 01:54:03 PM)

In cost of goods sold statement the total factory cost' is
equal to

Select correct option:

Total Marks: 1

Costof material consumed + Labor cost

Costof material cansumed + Conversion cost

Castof material consumed + Total factory cost

Castof material consumed + Factory overhead!

> |

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM

Question # 5 of 20 ( Start time: 01:55:10 PM )
If cost of sales is Rs. 90,000, income from sales Rs. 200,000 and operating expenses Rs. 100,000, YWhat will be net

resuft?

Select correct option:

Rs.5,000 Losses

Rs.10, 000 Profits

Rs 1, 95,000 Profits

Rs 1.95,000 Losses

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # B of 20 ( Start time: 01:56:12 PM )

Which of the following is NOT a characteristic of

Journal?

Select correct option:

Transactions are recorded in chronclogical order

Transaction is first recarded in Journal from Voucher

Itis also called The original book of entry”

None of the given options

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 7 of 20 ( Start time: 01:57:37 PM)

Depreciation arises hecause
of.

Select correct option:

Fall i the market value of an asset

Fallinthe value of money

Physical wear and tear

Al of the given options

Click here to Save Answer & Move to Next Question

> |
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM

Liabilies?

Question # B of 20 ( Start time: 01:58:43 PM )
ABC co. has a capital of Rs. 100,000, Long Term Liabilties Rs. 50,000, net profit during the year Rs. 15,000 and the amount of total assets is Rs 175,000, What will be the amount of Current

Select correct option:
Rs. 20,000

)
Rs. 150,000

)
Rs. 10,000

® )
Rs. 25,000

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 8 of 20 ( Start time: 01:59:47 PM )

Which of the following are recorded in Cash
Book?

Select correct option:

Receipts and payments

Profts and lnsses

Assets and lishiliies

Capital and Expenditures

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 10 of 20 ( Start time: 02:00:00 PM )

Total depreciation of an asset can not exceer

its:

Select correct option:

Scrap value

Residual value

Marketvalue

Depreciable value

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 11 of 20  Start time: 02:01:21 PM )
Any expense that hecomes a source of income generation for a long time periodis called

Select correct option:

Capital Expense

Revenue Expense

Revenue Receipt

Capital Receipt

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 12 of 20  Start time: 02:01:41 PM )
A book that keeps separate record for each account is known

as:

Select correct option:

Trial Balance

Voucher

General Joumal

General Ledger

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 13 of 20 ( Start time: 02:02:01 PM)

Which one of the following cannot be classified as Revenue

Income?

Select correct option:

Goads sold for cash

Goads sald on credit

Income from the sale of services

Income from the sale of fixed assets

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 14 of 20  Start time: 02:02:19 PM )
In which of the following statermentss losing stock isfare

shown?

Select correct option:

Profitand loss account

Balance shest

Income statement

Al of the given options

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 15 of 20 ( Start time: 02:03:13 PM )

Loss on the sale of plant and machinery should be written off

against:

Select correct option:

Sales prermiurm account

Depreciation fund account

Sales account

Plant and machinery

Click here to Save Answer & Move to Next Question

> |
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 16 of 20 ( Start time: 02:04:46 PM )

VWhat should be credited, if rent paidl in
cash?

Select correct option:

Landlord's account

Rent account

Cash account

| Accounts receivable account

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 17 of 20 ( Start time: 02:05:27 PM )

Cartiage outward and advertising expenses are known

as:

Select correct option:

Administiative Expenses

Financial Expenses

Selling Expenses

Costof Goods Sold

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Quiz Start Time: 01:52 PM

Eﬂ

I

Question # 18 of 20 ( Start time: 02:05:40 PM )

Which one of the following statement is CORRECT ahout Long term
liahilties?

Select correct option:

Total Marks: 1

These are due within one year

These are shortterm loans

Cansist of all bank debts payahle more than 12 manths

Inworking capitel, these are deducted from ssets

Click here to Save Answer & Move to Next Question
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BC140201924 : Muhammad Mazhar Abbas

Total Marks: 1

Quiz Start Time: 01:52 PM
Question # 20 of 20 ( Start time: 02:08:18 PM )

Budget s another name of in

Accounting

Select correct option:

Guest Strategy

Statement of Cash Flow

Financial Farecast

Expected life of Asset

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 1 of 20 ( Start time: 02:10:33 PM)

Debit
signifies

Select correct option:

Increase in Asset account

Decrease in liability account

Decrease in capital account

Al of the given options

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 2 of 20 ( Start time: 02:10:58 PM )
A sum of Rs. 6,000 paid as wages for erecting a machine should be

dehited to:

Select correct option:

Cash Account

Machinery Account

Wages Account

Factory expense Account

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi B
Time Left -
Quiz Start Time: 02:10 PM
Question # 3 of 20 ( Start time: 02:11:58 PM ) Total Marks: 1
The maximum limit of persons in a private Ltd
company is
Select correct option:
7
20
® 2
50
p
No Limit
p
Click here to Save Answer & Move to Next Question [
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BC140201694 : Muhammad Raheel Qureshi B
Time Left =
Quiz Start Time: 02:10 PM
Question # 5 of 20 ( Start time: 02:12:31 PM) Total Marks: 1
Which of the following is the example of Current
Assert?
Select correct option:
Land
Building
p
Stock
® p
Capital
p
Click here to Save Answer & Move to Next Question [
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # B of 20 ( Start time: 02:12:47 PM)

Which of the following is used to calculate Gross
Profit?

Select correct option:

Expenses + Revenues

Assets - Lishiliies

Revenue - Labor

Net Pievenue - Cost of Goods Sold

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 7 of 20 ( Start time: 02:13:06 PM )
Atthe end of the accourting period, the balance which is showing on the debit side of ledger account is

called as:

Select correct option:

Credit Balance

Deit Balance

Contra account

None of the above

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi B
Time Left -
Quiz Start Time: 02:10 PM
Question # 8 of 20 ( Start time: 02:13:36 PM ) Total Marks: 1
What is the next step to Journalizing in Accounting
cycle?
Select correct option:
Recording
Posting
® 4
Balancing
p
Analyzing
p
P | Clickhere to Save Answer & Move to Next Question ||





[image: image27.png][ quiz.vu.edu.pk/QuizQuestion aspx?ver =cbcod4ab-0e77-4872-bb7c-29d20d0a5086

I

Time Loft g

BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM

Question # 8 of 20 ( Start time: 02:14:31 PM)
Which of the following account halance is shown on credit side of Trial Balance? (It is assumed that all account halances are shown on normal

balance)

Select correct option:

Cash account

Furniture account

Vehicle account

Capital account

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 10 of 20 ( Start time: 02:14:51 PM)

Partnership means a lawful husiness owred by at

least:

Select correct option:

Twa or more persons

Five or more persons

Seven or more persons

Ning or more persons

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 11 of 20 ( Start time: 02:15:03 PM )
Amanufacturing concern has Raw material of worth Rs. 100,000, Direct Lahor Rs. 75,000 and Factory Overhead Rs. 50,000. The amount of Prime

cost will be:

Select correct option:

Rs. 150,000

Rs. 175,000

Rs. 125,000

Rs. 225,000

Click here to Save Answer & Move to Next Question

> |
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 12 of 20 ( Start time: 02:16:32 PM )
Which of the following assets are shown at written down value in balance

sheet?

Select correct option:

Current assets

Licid assets

Flosting assets

Fixed assets

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 13 of 20 ( Start time: 02:16:44 PM )

In which depreciation method Depreciation remains

constant?

Select correct option:

Reducing balance method

Units of Production

Straight Line method

None of the given options

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM

Question # 14 of 20  Start time: 02:17:01 PM )
If Gross profit Rs. 16,500 and Cost of goods sold Rs. 183,500, what will be the amount of Net

Sales?

Select correct option:

Rs. 183, 500

Rs. 167, 000

Rs. 200,000

Rs. 230,000

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Quiz Start Time: 02:10 PM

Em

I

Question # 15 of 20 ( Start time: 02:17:25 PM )

Which of the following is used to determine the cost of goods
sold?

Select correct option:

Total Marks: 1

Beginning inventory + Purchases - Work in Process

Beginning inventory + Purchases - Sales

Beginning inventory + Purchases - Ending inventary

Ending inventary + Purchases - Beginning Inventory

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM

Question # 16 of 20  Start time: 02:17:53 PM )
If cost of sales is Rs. 90,000, income from sales Rs. 200,000 and operating expenses Rs. 100,000, YWhat will be net

resuft?

Select correct option:

Rs.5,000 Losses

Rs.10, 000 Profits

Rs 1, 95,000 Profits

Rs 1.95,000 Losses

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 17 of 20 ( Start time: 02:18:21 PM)

What is the nature of a revenue
account?

Select correct option:

Asset

Deit

Credit

Expense

Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 18 of 20 ( Start time: 02:18:32 PM )
Cost of goods manufactured - opening work in process + ending work in

process =7

Select correct option:

Costof goods sold

Prime cost

Canversion cost

Total factory cost

Click here to Save Answer & Move to Next Question

> |
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 18 of 20 ( Start time: 02:19:53 PM )
If Total Assets of the business worth Rs. 200,000, Current Assets Rs. 100,000 and working capital of the business has the value of Rs. 25,000, Yhat will be the amount of Current Liabilties of

the husiness?

Select correct option:
Rs. 25,000
)
Rs. 125,000
)
Rs. 75,000
® )
Rs. 100,000
Click here to Save Answer & Move to Next Question
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BC140201694 : Muhammad Raheel Qureshi

Total Marks: 1

Quiz Start Time: 02:10 PM
Question # 20 of 20 ( Start time: 02:21:13 PM)
What will be debited, If Mr. “” started business with Rs. 2,

00,000,

Select correct option:

Capital account

Cash account

Mr. A's account

Business account

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Quiz Start Time: 02:23 PM

Em

I

Question # 2 of 20 ( Start time: 02:24:03 PM)

When income is reduced or decreased, that amournt is recorded
on

Select correct option:

Total Marks: 1

Right or debit side of the account

Left or debit side of the account

Left or credit side of the account

Right or credlit sidle of the coount

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 3 of 20 ( Start time: 02:24:35 PM )
If cost of sales is Rs. 60,000, income from sales Rs. 85,000 and direct expenses Rs. 10,000, Caloulate Net

profit

Select correct option:

Rs. 15,000

Rs. 35,000

Rs. 55,000

Rs. 60,000

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 4 of 20 ( Start time: 02:25:22 PM )

Partnership means a lawful husiness owred by at

least:

Select correct option:

Twa or more persons

Five or more persons

Seven or more persons

Ning or more persons

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 5 of 20 ( Start time: 02:25:30 PM )

Tl is mainly a process of

Select correct option:

Allocation

Valuation

Calculation

None of the above

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # B of 20 ( Start time: 02:26:46 PM )

Which of the following is fiscal Year of Government of
Pakistan?

Select correct option:

Tt January to 31st Decernber

Tst.June to 31stMay

15t July to 30th June

15t October ta 30th September

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 7 of 20 ( Start time: 02:27:04 PM)
WWhat will be dehited, if Mohsin commenced business with

cash?

Select correct option:

Cash account

Capital account

Drawings aceount

Propristor account

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Quiz Start Time: 02:23 PM

Question # 8 of 20 ( Start time: 02:27:19 PM)

Select correct option:

Total Marks: 1

A manufacturing concern has Raw material of worth Rs. 100,000, Direct Labor Rs. 75,000 and Factory Overhead Rs. 50,000. The amount of Eilcill

Rs. 150,000

Rs. 175,000

Rs. 125,000

Rs. 225,000

> |

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 8 of 20 ( Start time: 02:28:41 PM)

Another name of net incorme or positive financial return

is:

Select correct option:

Profit

Contribution Margin

Revenue

Credit

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 10 of 20 ( Start time: 02:29:57 PM )

Which of the following is @ FIRST product of accounting

oyole?

Select correct option:

Voucher

General Joumal

General Ledger

Financial Statements

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 11 of 20  Start time: 02:30:10 PM )
The journal entry to record purchase of furmiture on credit would

include &

Select correct option:

Creditto fumiture Alc

Creditta Cash Al

Creditto Payables Alc

Creditto Peceivables Alc

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 12 of 20 ( Start time: 02:30:23 PM )

Which of the following is Not an Asset
Account?

Select correct option:

Plant & Machinery

Loanto XvZ co,

Cash atBank

Loan from ABC co.

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 13 of 20 ( Start time: 02:30:41 PM)
The investment of Rs. 10,000 made by the owner in business will have an effect on which of the following

accounts?

Select correct option:

Cash Account & Capital Account

Cash Account & Expense Accourt

Capital Account & Revenue Account

Capital Account & Expense Account

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:23 PM

Question # 14 of 20 ( Start time: 02:30:58 PM )

T is used by a business

Select correct option:

Total Marks: 1

Analyze ransactions

Handle rautine bookkeeping tasks

Structure information

Al of the given options

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 15 of 20  Start time: 02:31:37 PM )
The estimated value of an asset after the expiry of ts useful e is

called as:

Select correct option:

\Wiitten Down value

Residual Value

Accumulated deprecietion

Sales value

Click here to Save Answer & Move to Next Question
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Time Left -
Quiz Start Time: 02:23 PM

Question # 16 of 20 ( Start time: 02:32:13 PM ) Total Marks: 1

Which of the following formula is used to caloulate the cost of goods
sold?

Select correct option:

Cost of goads available for sale minus net purchases plus ending inventory

Beginning inventory plus net purchases plus freightin minus ending inventary

Beginning inventory minus net purchases minus ending inventary

Beginning inventory minus ending inventory

Click here to Save Answer & Move to Next Question
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BC140202392 : Muhammad Umair Qureshi

Quiz Start Time: 02:23 PM

Question # 17 of 20 ( Start time: 02:32:53 PM )

I - opening work in process + ending work in

Select correct option:

Total Marks: 1

Costof goods sold

Prime cost

Canversion cost

Total factory cost

> |

Click here to Save Answer & Move to Next Question
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Time Left -
Quiz Start Time: 02:23 PM
Question # 18 of 20 ( Start time: 02:34:23 PM ) Total Marks: 1
Awrong entry on the debit side of the Cash Book would lead
to:
Select correct option:
Cash Book showing less Balance
p
Cash Book showing more Balance
® 2
Cash withdrawal
p
Purchases
p

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 19 of 20 ( Start time: 02:34:58 PM )
An expenditure whose henefit is finished or enjoyed immediately is

called:

Select correct option:

Expense

Lisbility

Cost

Income

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:23 PM
Question # 20 of 20 ( Start time: 02:35:10 PM )
ABC & Co. purchased a typewriter for Rs. 5,000 and paid by cherue. Which of the following accounts would be affected from this transaction? |) Assets Il Liabilties Il) Expenises V)

Revenues

Select correct option:

land IV

landll

Iand i

1only

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 2 of 20 ( Start time: 02:36:38 PM )

Reveriues, expenses and net profi are found

ona:

Select correct option:

Statement of Cash Flows

Income Statement

Statement of Owner's Equity

Balance Sheet

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 3 of 20 ( Start time: 02:37:05 PM )
Find oLt the missing value of an Accounting Equation with the help of given data: Total Assets Rs. 34,500 Accourts payable Rs. 1,000 Other liahlities Rs. 11,500

Owner's equity 7

Select correct option:

Rs. 22,000

Rs.24,000

Rs. 45,000

Rs. 46,000

Click here to Save Answer & Move to Next Question





[image: image60.png]8ee5205-ddb8-4efb-bd1d-bdda7 7fe34e8

[ quiz.vu edu.pk/QuizQuUestion. aspx v

-t

BC140202065 : Syed Masroor Ali

Quiz Start Time: 02:36 PM

Total Marks: 1

Question # 4 of 20 ( Start time: 02:37:40 PM)

What is the nature of a revenue
account?

Select correct option:

Asset

Deit

Credit

Expense

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:36 PM

e <

Question # 5 of 20 ( Start time: 02:37:50 PM )

VWhat is the next step to Journalizing in Accounting
cycle?

Select correct option:

Total Marks: 1

Recording

Posting

Balancing

Analyzing

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM

Question # B of 20 ( Start time: 02:38:10 PM )
VWhen a customer purchases goods from business and makes a promise to pay the amount at certain future time period, he will be

called as:

Select correct option:

Liahiliies

Equity

Receivables

Payables

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM

Question # 7 of 20 ( Start time: 02:38:55 PM )
In case of Incorne and Expenditure account, Excess of incorme over expenses in a specified accounting period is

called:

Select correct option:

Profit

Loss

Surplus

Deficit

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:36 PM

Question # 8 of 20 ( Start time: 02:39:17 PM)

Which of the following is used to determine the cost of goods
sold?

Select correct option:

Total Marks: 1

Beginning inventory + Purchases - Work in Process

Beginning inventory + Purchases - Sales

Beginning inventory + Purchases - Ending inventary

Ending inventary + Purchases - Beginning Inventory

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 8 of 20 ( Start time: 02:39:31 PM)
WWhat will be dehited, if Mohsin commenced business with

cash?

Select correct option:

Cash account

Capital account

Drawings aceount

Propristor account

Click here to Save Answer & Move to Next Question
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Time Left -
Quiz Start Time: 02:36 PM
Question # 10 of 20 ( Start time: 02:39:48 PM ) Total Marks: 1
Which one of the following will result in increase in
revenues?
Select correct option:
Purchased fixed asset
p
Received discount
® 2
Paymentto creditars
p
Peetum of goods, sold on credit
p

Click here to Save Answer & Move to Next Question

> |
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Total Marks: 1

Quiz Start Time: 02:36 PM

Question # 11 of 20  Start time: 02:41:16 PM )
The allocation of the cost of a tangible plant asset to expense in the periods, in which services are received from the asset, is

termed as:

Select correct option:

Appreciation

Depreciation

Fluctuation

None of the given options

Click here to Save Answer & Move to Next Question
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BC140202065 : Syed Masroor Ali

Quiz Start Time: 02:36 PM

Question # 12 of 20 ( Start time: 02:41:42 PM)

Goods returned by Mr. B amount to Rs. 4,000. The entry in the hooks
will be:

Select correct option:

Total Marks: 1

Mr. B s Dehit Sales Pretums is Credit

Sales Petums is Debit Mr. B is Credit

Mr.BisDehit  Accaunts Receivable Credit

Purchases Retum Dehit  Mr. B s Credit

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 13 of 20 ( Start time: 02:42:15 PM )
in

Budget s another name of
Accounting,

Select correct option:

Guest Strategy

Statement of Cash Flow

Financial Farecast

Expected life of Asset

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 14 of 20 ( Start time: 02:42:34 PM)
Which of the following voucher is used to record transactions that do not affect hank &

cash?

Select correct option:

Journal Voucher

Receipt Voucher

Payrment Voucher

Norminal Voucher

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM

Question # 15 of 20 ( Start time: 02:43:22 PM )
As asset has a cost of Rs. 2000 and rate of depreciation 10% p.a. Vhat will be the hook value of asset under diminishing balance method after

Iyears?

Select correct option:

Rs.542

Rs. 1458

Rs. 1400

Rs. 1600

Click here to Save Answer & Move to Next Question

> |
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 16 of 20 ( Start time: 02:44:32 PM )
The expenses which are NOT paid out of Gross Profit is classified

as:

Select correct option:

Direct Expenses

General Expenses

Financial Expenses

Selling Expenses

Click here to Save Answer & Move to Next Question

> |
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 17 of 20 ( Start time: 02:45:36 PM )

Franchise rights, goocwill and patents are the exarmples

o

Select correct option:

Licid assets

Tangible assets

Current assets

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM

Question # 18 of 20 ( Start time: 02:46:13 PM )
If Purchase price of machine = 400,000 Profit on disposal = Rs. 5,000 Residual value = Rs. 10,000 Useful life of machine = 5 years Find Sale price at the time of

disposal =7

Select correct option:

Rs. 15,000

Rs. 10,000

Rs. 20,000

Rs.5,000

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 18 of 20 ( Start time: 02:47:43 PM )

Which of the following particular is NOT included in journal

voucher?

Select correct option:

Name of organization

Bank receipt nurber

Deit amount

Credit amount

Click here to Save Answer & Move to Next Question
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BC140202065 : Syed Masroor Ali

Total Marks: 1

Quiz Start Time: 02:36 PM
Question # 20 of 20 ( Start time: 02:48:15 PM )

ABalance Sheet discloses the financial position of a

firm

Select correct option:

For a cetain given period

At particular point oftime

Atter the fixed date

None of the given options

Click here to Save Answer & Move to Next Question

> |
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 1 of 20 ( Start time: 02:49:58 PM )

In which of the following Gross Profit is
calculated?

Select correct option:

Balance Sheet

Trading Account

Appropristion Account

Receipt and Payment Account

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 2 of 20 ( Start time: 02:50:38 PM )

Which of the following is the example of current
liabilty?

Select correct option:

Notes payable

Notes receivable

Accounts receivable

Prepaid expenses

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 3 of 20 ( Start time: 02:50:51 PM )

What does single entry accounting
mean?

Select correct option:

Itmeansto record debit only

Itmeansto record ane side of enty only

Itmeansto record cash only

Itmeansto record credit anly

Click here to Save Answer & Move to Next Question
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BC140202130 : Muhammad Daniyal

Quiz Start Time: 02:49 PM

Question # 4 of 20 ( Start time: 02:51:26 PM )

Which of the following is NOT a characteristic of
Journal?

Select correct option:

Total Marks: 1

Transactions are recorded in chronclogical order

Transaction is first recarded in Journal from Voucher

Itis also called The original book of entry”

None of the given options

> |

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 5 of 20 ( Start time: 02:52:26 PM )
ABC & Co. made its monthly office rent payment. Which of the following accounts would be affected from this transaction’? ) Assets I} Liabilties Il) Expenses V)

Revenues
Select correct option:
land vV
)
land I
)
land Il
)
Tand I
@® )
Click here to Save Answer & Move to Next Question -
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # B of 20 ( Start time: 02:52:53 PM )
Following information is available relating to a manufacturing concern: Cost of Goods Sold Rs. 245,000 Opening Stock Rs. 15,000 Closing Stock Rs. 25,000 What will be the amount of

Purchases?

Select correct option:

Rs. 205,000

Rs. 250,000

Rs. 255,000

Rs. 285,000

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 7 of 20 ( Start time: 02:54:12 PM)
Which of the following contents are included in the Cost of goods

sold?

Select correct option:

Opening stock

Purchases

Freightin

Al of the given options

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # B of 20 ( Start time: 02:54:27 PM )
Any expense that hecomes a source of income generation for a long time periodis called

Select correct option:

Capital Expense

Revenue Expense

Revenue Receipt

Capital Receipt

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 8 of 20 ( Start time: 02:54:42 PM )

Which of the following is used to calculate Gross
Profit?

Select correct option:

Expenses + Revenues

Assets - Lishiliies

Revenue - Labor

Net Pievenue - Cost of Goods Sold

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 10 of 20 ( Start time: 02:54:54 PM )

Which of the following is/are the example/s of Intangible

Asset?

Select correct option:

Copy rights

Good wil

Paterntrights

Al of the given options

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 11 of 20 ( Start time: 02:55:05 PM )

Heavy expenditure on advertisernent of a new product is an

example of

Select correct option:

Capital Expenditure

Revenue Expenditure

Deferred Revenue Expenditure

Capital Loss

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:49 PM
Question # 12 of 20 ( Start time: 02:55:37 PM ) Total Marks: 1
Supervisor's salary and equipment repair cost are examples

of.

Select correct option:

Factory overhead cost
O y
y

Direct material cost

Directlabor cost

Finished goods cost

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:49 PM

Question # 13 of 20 ( Start time: 02:56:03 PM )

Assets are divided in which of the following categories in balance
sheet.

Select correct option:

Total Marks: 1

Curtent assets, Long term assets and capital assets

Curtent assets, Long term assets and fixed assets

Cunrent assets, Quick ssssts and business debts

Cunrent assets, Fixed assets and defenred cost

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 15 of 20 ( Start time: 02:56:30 PM )

Amount generated from sales in a business is

called:

Select correct option:

Income

NetIncame

Gross Profit

Operating profit

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Quiz Start Time: 02:49 PM
Question # 16 of 20 ( Start time: 02:56:55 PM )

Which of the following is Not a part of General
Ledger?

Select correct option:

Activity Baok

Purchase Retum Book

Purchase Book

Sales Book

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 02:49 PM

o <[

Question # 18 of 20 ( Start time: 02:58:07 PM )

In balance sheet fixed assets are shown
at

Select correct option:

Total Marks: 1

Wiiten down value (WDV)

Costprice

Marketvalue

Fairvalue

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 2 of 20 ( Start time: 04:15:06 PM ) Total Marks: 1

B

>

Ifsslaris are Rs. 2500, purchases Rs. 18,000 and rent Rs. 400; what wilbe admiristative:
expenses?

Select correct aption:

Re. 400
o] ]

Rs 2500

Rs 2500

Fis 20,900

» [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM

>

Question # 3 of 20 ( Start time: 04:16:03 PM )

The proper clsssication o fess saned account

Select correct aption:

Total Marks: 1

Assets

o]

Lisbltes

Revenues

Evpenses

[

Dane.

Internet

- o
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Quiz Start Time: 04:14 PM

Question # 4 of 20 ( Start time: 04:16:35 PM )

Which ofthe following is NOT considered a pat of financial
stalements?

Select correct aption:

Total Marks: 1

General Joumal

Balance Sheet

Profit and Lass account

None of the given options

® [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM

Question # 5 of 20 ( Start time: 04:18:01 PM )

‘Which one ofthe following is NOT a featursof sol propretorship
business

Select correct aption:

Total Marks: 1

Easy Fomation

o]

Easy Dissohion

Unimied Lisbity

Separste Legal Eniy

® [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 7 of 20 ( Start time: 04:19:33 PM ) Total Marks: 1

B

>

‘Which of the following expenses are caled financial
expenses?

Select correct aption:

Payment of rert & Salay expense

o] ]

Markup on loand Bark Charges

Iterest & advetisement expense

Wages and Depreciation sxpense

» [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 8 of 20 ( Start time: 04:20:39 PM ) Total Marks: 1

B

>

A parsan wanting ta knaw the balance of a paticular account would
ieferto:

Select correct aption:

The souce document

o] ]

The book of oiginalenty

The chat of aceaurts

The ledger

» [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 10 of 20 ( Start time: 04:21:41 PM ) Total Marks: 1

B

>

The process o transtering jourmal enty informaton to the ledger is
called:

Select correct aption:

Jounaizing

o] |

Posting

Balancing

Analzing

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 11 of 20 ( Start time: 04:22:12 PM ) Total Marks: 1

B

>

‘Which ofthe following is Not a pat of General
Ledger?

Select correct aption:

‘Activy Book.
® |

Purchase Retum Boak

Purchase Boak

Sales Bock,

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM

Question # 12 of 20 ( Start time: 04:23:01 PM )

Saaris paid to employees Fs. 15,000 The effectof tis iansaction
would be:

Select correct aption:

Total Marks: 1

[AninciessenAssel | Destease nhset 2
o] ]
Destease inLishily  Decisase n Asset 2
o] ]
ncrease inEvpense  Deciease nAsset 2
(o] ]
Destease inExpense  Decisase n Captal 2
o] ]
Click here to Save Answer & Move to Next Question ] ||
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Quiz Start Time: 04:14 PM

Question # 14 of 20 ( Start time: 04:25:18 PM )

‘Whal shauld be credied,  rert paidin
cash?

Select correct aption:

Total Marks: 1

Landlard's account

o]

Rent account

Cash account

‘Accaunts receivable account

® [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM

Question # 17 of 20 ( Start time: 04:28:22 PM )

The Sales Retuns Day Book would
include:

Select correct aption:

Total Marks: 1

(Goods bought on credt

o]

Fired Assets bough that are nappropriate for business.

Stack that customers have retumed

Goods baught on cred that are retumed to the ariginal supplier

Click here to Save Answer & Move to Next Question

[

Dane.

I T





[image: image104.png]Quiz - Windows Internet Explorer

OO ~ B 1201352 v s Qs pver=30500ese s 1000 rzresres ) [8][%] (%] [@atreseacn (o

Flo Edt View Favortes Took

i Favertes | @ aue 1 -

BC140201279 - Shahzaib Amin
e unﬂl

Quiz Start Time: 04:14 PM
Question # 18 of 20 ( Start time: 04:29:05 P ) Total Marks: 1

B

>

The total costof an asset minus accumulated depreciaton s called as

Select correct aption:

Curent market Valie

o] ]

Historical Cost

Book Value

Fieplacement Cost

® [_Click here to Save Answer & Move to Next Question
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Quiz Start Time: 04:14 PM
Question # 20 of 20 ( Start time: 04:31:28 PM ) Total Marks: 1

B

>

For every debit there must be a credi with an equal amaurt, Thisis alsa
called a5

Select correct aption:

Separste Entiy Concept

o] ]

Single Enty BookKeeping

Matching Cancept

Dusl Aspect Concept

® [_Click here to Save Answer & Move to Next Question
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